Notation Scientifique (C)

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

1,07 x 10* = 6,17 x 107 =
0,0005384 = 915 000 =
3,988 x 10° = 0,00952 =
0,000000945 = 3,755 x 10° =
9,6 X 107 = 7400 000 =
5723 x 1077 = 220000000 =
1,906 x 10° = 8 000 =
503x107% = 1,833 x 10* =
2 805 = 6,6 X 10° =
890 000 = 0,0000659 =
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Notation Scientifique (C) Solutions

Iranscrivez chaque nombre ci-dessous en notation standard ou scientifique,

1,07 x 10*

0,0005384

3,988 x 10°

0,000000945

9,6 X 107

5,723 x 1077

1,906 x 10°

5,03 x 1078

2 805

890 000

10700 6,17 x 107°
5,384 x 107* 915 000
398 800 0,00952
9,45 x 1077 3,755 x 103
96 000 000 7400 000
0,0000005723 220000 000
190 600 000 8 000
0,0000000503 1,833 x 10*
2,805 x 10° 6,6 X 10°
8,9 x 10° 0,0000659

0,00000617

9,15 x 10°

9,52 x 1073

3755

7,4 x 10°

2,2 x10°

8 x 103

18 330

6 600 000

6,59 X 107°
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